
Problems on HCF and LCM 
 

1. Find the LCM of the following pairs of numbers. 

a.    6 and 9      b.    6 and 15 

 

 

 

 

c.    8 and 18      d.    12 and 36 

 

 

 

 

 

2. Find the HCF of the following pairs of numbers. 

a.   55 and 80      b.    33 and 39 

 

 

Multiple of _____ = ____________ 

Multiple of _____ = ____________ 

LCM of _____ and _____ = ______ 

 

Multiple of _____ = ____________ 

Multiple of _____ = ____________ 

LCM of _____ and _____ = ______ 

 

Multiple of _____ = ____________ 

Multiple of _____ = ____________ 

LCM of _____ and _____ = ______ 

 

Multiple of _____ = ____________ 

Multiple of _____ = ____________ 

LCM of _____ and _____ = ______ 

 

Factors of _____ = _____________ 

Factors of _____ = _____________ 

Common factors ______________ 

HCF of _____ and _____ = ______ 

 

Factors of _____ = _____________ 

Factors of _____ = _____________ 

Common factors ______________ 

HCF of _____ and _____ = ______ 

 




